12”0543 (K12n0543)

(\/\ 5\ Linearized knot diagam

XN
V& 2 %
M/ Solving Sequence

3 810 411*3"12"74’6*’24’ *»5—>9%>C4,CS,012
cCi1 €7 Cg C2 €1 C5 Cg

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = (=7700u'™ + 5343u'® + - - - 4 94946b — 375396,
— 20850107 — 1574159u!6 + - - - 4+ 189892a — 47374, u'® + 9u'” + ... — 32u — 8)
= (2u® —8uM 4+ 4b—3, —3uMPa—u®+--+4a—5,
u® — 5ut® + 13u' — 2003 + 20u'? — 130! + 700 — 4u® + 5u® — 6u” + Tub + ud 4+ ud 4+ 2u% — 2u+ 1)
=W’ —ut 44 +b—3u+1, ub+4u +u? Fatu, v’ —2u® + 205 + 3ut — Tud + Tu? — du+ 1)
I4f(u +b—1, —u* +a+u, u* —u?+1)
=W +b—2u, —u®+3u®+a—2u—1, u* —4u® +5u® — 2u+ 1)
=(—uP+b+1, v?+a, ut —u?+1)

* 6 irreducible components of dim¢ = 0, with total 69 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I = (=7700u'” + 5343u'® + - - - + 94946b — 375396, —2.09 x 105u'” —
1.57 X 105416 4 ... 4+ 1.90 x 10%°a — 4.74 x 104, u!® + 9u!'" + ... — 32u — 8)

(i) Arc colorings
(1)
ai = )

1.09800u!7 + 8.28976u'6 + - - - — 15.7165u + 0.249479
0.0810987ul7 — 0.0562741u16 + .-+ 6.78168u + 3.95378

)

—0.494223u'" — 4.52911u'6 + - - - 4+ 19.6689u + 9.03346
0.806058u'7 + 7.39600u'6 + - - - — 28.8365u — 8.13519

—1.22543u'" — 10.2441u!® + - - - + 36.7104u + 11.2034 )

( 0.156958u'7 — 1.34093u'® + - + 11.8068u + 6.16152

1.55492u'7 + 13.6648u'® + - - - — 63.8250u — 22.6427 >

a7 = \0.784725u" + 6.89000u16 + - - . — 28.0103u — 9.80343
0.770190u'” + 6.77476u'0 + - .- — 35.8147u — 12.8393
as = \ 0.784725u'7 + 6.89000u'6 + - - - — 28.0103u — 9.80343
0.290215u'7 + 2.16110u'6 + - - - + 2.43279u + 1.45741
az = \ —0.157274u'" — 1.91408u'® + - - - + 16.4252u + 6.18248
2.34412u'7 + 18.5078u!% + - - - — 50.0957u — 13.4097
a1 = \ —1.64756u'7 — 13.1645u1® + - - - 4 21.7849u + 2.78798
2.10179u'7 + 17.6337u' + - - - — 59.4695u — 17.2935
as = \ —0.157274u'" — 1.91408u' + - - - + 16.4252u + 6.18248
0.321980u'7 + 2.64919'0 + - .. — 15.1353u — 5.98303
a9 = \ —0.248631u'" — 1.59965u'® + - - - + 4.32034u + 2.57584
(ii) Obstruction class = —1
(i) Cusp Shapes = — 353" — 2507010 -+ SR + S



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1 w'® 1307 4+ .. 1 129284 + 256
C2,C5 w110+ — 320+ 16
C3,Cy4,C7 u18+u17—|—---—6u+1
C11
C6,C8,C9 w® T 3u—1
C12
c10 u® FulT 4 —32u—8




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y'® — 25y + ... — 151904256y + 65536
2,5 Yt — 13917 + .- — 12928y + 256
C3,Cy4,C7 y18+17y17_~_._._14y+1
C11
Cg, Cg, Cg y18+3y17+_.__y_~_1
C12
10 y'® — 5y 4. — 416y + 64




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.620829 4 0.4510491
a = —1.057030 — 0.9086081
b= —0.364836 — 0.5139541

—4.27022 — 1.760481

4.57169 + 3.797161

u = —0.620829 — 0.4510491
a = —1.057030 + 0.9086081
b= —0.364836 + 0.5139541

—4.27022 4 1.760481

4.57169 — 3.797161

u=0.299337 + 0.5849401
a = —1.029310 — 0.8296531
b= —0.727675 + 1.0013601

—1.45016 + 2.065791

—1.19192 — 3.003111

u=0.299337 — 0.5849401
a = —1.029310 + 0.8296531
b= —0.727675 — 1.0013601

—1.45016 — 2.065791

—1.19192 + 3.003111

u = —0.550550 + 0.3193241
a= 1.76918 — 0.573631
b= 10.636691 — 0.1433191

0.60964 — 2.633321

1.40533 + 10.859011

u = —0.550550 — 0.3193241
a= 1.76918 + 0.573631
b= 10.636691 + 0.1433191

0.60964 + 2.633321

1.40533 — 10.859011

1.39562 + 0.466791
0.039259 + 0.3594761
b= 0.513460 — 1.1930201

1.25038 + 1.914821

14.6915 — 3.03361

1.39562 — 0.466791
0.039259 — 0.3594761
b= 0.513460 + 1.1930201

1.25038 — 1.9148271

14.6915 + 3.03361

u = —1.50565

a= 0.258519 7.31535 30.1030
b= —0.196820
u = 0.460925
a = —0.513715 0.812221 12.1610
b= 0.345924




Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.99486 + 1.190771
= —0.774071 4 0.5178551
—1.71185 — 0.175341

—7.59215 — 0.447881

1.54300 — 0.728251

—0.99486 — 1.190771
= —0.774071 — 0.5178551
= —1.71185 + 0.175341

—7.59215 + 0.447881

1.54300 + 0.728251

= —1.13905 + 1.082501
0.869148 — 0.5628991
= 1.65960 + 0.632041

—7.10236 — 7.755071

1.99474 + 5.371391

—1.13905 — 1.082501
0.869148 + 0.5628997
1.65960 — 0.632041

—7.10236 + 7.755071

1.99474 — 5.371391

—1.13411 4 1.208891
= —0.943992 + 0.4269631
—1.89059 — 0.888241

—14.6094 — 14.63741

2.41427 + 6.497961

—1.13411 — 1.208891
= —0.943992 — 0.4269631
= —1.89059 + 0.888241

—14.6094 + 14.63741

2.41427 — 6.497961

= —1.23320 + 1.281871
= 0.504423 — 0.5994741
= 1.81064 + 0.135521

—14.4902 + 5.64111

1.43945 — 2.695121

= —1.23320 — 1.281871
= 0.504423 + 0.5994741
= 1.81064 — 0.135521

—14.4902 — 5.64111

1.43945 + 2.695121




II. 1Y =
(2u'® —8ult+4...+4b—3, —3u'®a—ul'®+..-+4a—5, u'®—5ul®5+...—2u+1)

(i) Arc colorings

1
aio = \0
( a
ag = \ 1,15 4, . _1 3
4 U +2u" + Su+ 3
1
aj] = _u2
%uls utt + - 4 a— %
as = 7%u15+9ul4+”.7u+%
(—%ulf’a %ulf’ 4+t %a +2
a1z =\ 1,15 I8 LI (S
12 jua+ qu + sa—1
f%u15a7u15+' +%a+%
ar = 17,14 3,15 1 1
7 71'{,& a/fzu +7§a+1
(—%ulf’a — %ulf’ + -+ ga — %u
ag = |\ —1y14 315 ... 1 1
6 jua—qu+ 30+ 1
(iul‘r’a +ul® .+ %a -1
as = |\ 1,14 3,15 I 5
2 juta—qu + +za+ 3
—%ulf’a + gulf’ + + %a — %
ap = sutta—u® +. + la+ 3
(;uwa %uw+ --+4171a+;)
ar = 1,14 15 e — = s
5 ua u + 70+ 3
(—}Luwa uls 4. +a+%
ag = Lo12 L2y .1, 1
9 juta—gut+ 14973
(ii) Obstruction class = —1

(iii) Cusp Shapes = —2u'® + 10u!* — 24u!3 + 30u'? — 14u!? — 1440 4 26u° — 18u8® +
4u” + 4ub — 4ud — 14u* + 1403 — 6u + 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u'® + 22u'® + - - — 46u + 1)?
ca, Cs5 (u'® —4u® .- —2u +1)?
C3,C4,C7 U32+3u31 ++310U+25
C11
€6, C8: Co u?? — Pl - — 160u + 31
C12
10 (u'® —5u"® + ... — 20+ 1)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 (y'® — 50y™® + .- — 1390y + 1)?
C2,C5 (y'® — 229" + - + 46y + 1)?
e y*? +33y%! 4+ — 34950y + 625
C11
Cg, Cg, Cg y32+y31++7570y+961
C12
10 (y16 4 y15 R 8y2 =+ 1)2




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.078548 4 0.9955607
a= 1.54698 — 0.542981
b= 1.44017 — 0.270861

—9.80009 + 4.242531

—0.116479 — 1.3179971

u = —0.078548 4 0.9955607
a = —0.035239 — 0.1664441
b= —0.42773 — 1.752211

—9.80009 + 4.242531

—0.116479 — 1.3179971

u = —0.078548 — 0.9955607
a= 1.54698 + 0.542981
b= 1.44017 + 0.270861

—9.80009 — 4.242531

—0.116479 4 1.3179971

u = —0.078548 — 0.9955607
a = —0.035239 + 0.1664441
—0.42773 + 1.752211

—9.80009 — 4.242531

—0.116479 4 1.3179971

—0.618832 + 0.5826721
—1.45203 + 0.633571
—2.01398 — 0.363991

—7.78284 — 7.286001

5.19770 + 8.475501

—0.618832 + 0.5826721
= —1.96094 — 0.697951
= 0.059119 — 0.1456811

—7.78284 — 7.286001

5.19770 + 8.475501

= —0.618832 — 0.5826721
—1.45203 — 0.633571

—7.78284 + 7.286001

5.19770 — 8.475501

—0.618832 — 0.582672]
—1.96094 + 0.697951
0.059119 + 0.1456811

—7.78284 + 7.286001

5.19770 — 8.475501

0.200052 + 0.7795011
—0.253970 — 0.8862411
—0.295454 4 0.6057501

—1.79763 + 1.951541

0.19509 — 4.924191

0.200052 + 0.7795011
= —1.277830 — 0.1674551

b
U
a
b
U
a
b
U
a
b= —2.01398 + 0.363991
U
a
b
U
a
b
U
a
b= —1.41755+ 0.678751

—1.79763 + 1.951541

0.19509 — 4.924191
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

0.200052 — 0.7795011
—0.253970 + 0.8862411
—0.295454 — 0.6057501

—1.79763 — 1.951541

0.19509 + 4.924191

0.200052 — 0.7795011

= —1.277830 + 0.1674551

—1.41755 — 0.678751

—1.79763 — 1.951541

0.19509 + 4.924191

—0.707768 4 0.2731641
0.773361 — 0.7316961
0.540678 — 1.1295601

1.12133 — 2.900121

15.0799 +9.16441

—0.707768 4 0.2731641
1.54847 — 1.861551
0.407161 + 0.6632341

1.12133 — 2.900121

15.0799 + 9.16441

—0.707768 — 0.2731641
0.773361 + 0.7316961
0.540678 + 1.1295601

1.12133 + 2.900121

15.0799 — 9.16441

—0.707768 — 0.2731641
1.54847 + 1.861551
0.407161 — 0.663234.1

1.12133 + 2.900121

15.0799 — 9.16441

0.450330 + 0.3467811
0.81562 + 1.352791
1.246660 + 0.174676.1

0.284266 + 0.2525351

7.69503 — 0.476051

0.450330 + 0.3467811
—1.82349 + 0.202681
0.315640 — 0.339236.1

0.284266 + 0.2525351

7.69503 — 0.476051

0.450330 — 0.3467811

= 0.81562 — 1.352791 0.284266 — 0.2525351 7.69503 4 0.476051
= 1.246660 — 0.1746761
= 0.450330 — 0.3467811
= —1.82349 — 0.202681 0.284266 — 0.2525351 7.69503 4 0.476051

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
|

0.315640 + 0.3392361
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

1.33361 + 0.535671
—0.290025 — 0.9406471
—0.793311 + 0.8270221

—2.00097 + 1.608251

1.16219 — 1.278451

1.33361 + 0.535671
0.180629 + 0.6700811
0.570864 + 0.1522711

—2.00097 + 1.608251

1.16219 — 1.278451

1.33361 — 0.535671
= —0.290025 + 0.9406471
—0.793311 — 0.8270221

—2.00097 — 1.608251

1.16219 + 1.278451

1.33361 — 0.535671
0.180629 — 0.6700811
0.570864 — 0.1522711

—2.00097 — 1.608251

1.16219 + 1.278451

1.06623 + 1.073451
—0.678241 — 0.6538931
—1.89910 — 0.269151

—14.8835 + 3.94281

1.33663 — 2.552211

1.06623 + 1.073451
1.032010 + 0.6600751
1.54815 — 0.926911

—14.8835 + 3.94281

1.33663 — 2.552211

1.06623 — 1.073451
—0.678241 + 0.6538931
—1.89910 + 0.269157

—14.8835 — 3.94281

1.33663 + 2.552211

1.06623 — 1.073451
1.032010 — 0.6600751
1.54815 + 0.926911

—14.8835 — 3.94281

1.33663 + 2.552211

0.85493 + 1.306421
—0.924256 — 0.1545381
—1.64201 4 0.681431

—4.61900 + 6.088531

1.44994 — 2.957021

0.85493 + 1.306421
= 0.798966 + 0.2205871
= 1.86069 — 0.229891

> Q@ €| & €|l & €| & €| 2 | & 8| & 8|l & 8|l & 8| & &g
Il

—4.61900 + 6.088531

1.44994 — 2.957021
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= 0.85493 — 1.306421
= —0.924256 + 0.1545381
= —1.64201 — 0.681431

—4.61900 — 6.088531

1.44994 + 2.957021

0.85493 — 1.306421
0.798966 — 0.2205871
1.86069 + 0.229891

U
a
b
U
a
b

—4.61900 — 6.088531

1.44994 + 2.957021
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L I¥ = (u® —u* + 4u® + b—3u+1, ub +4u® + u? + a+u, u” — 2ub +
2u® + 3ut — Tud + Tu? — 4u + 1)

(i) Arc colorings
(0
ai = )

—u — 4 —u?—u
—ud 4 ut —4u? +3u—1

)

u6—2u +ut+4ud —Tu +3u—1
—uS 4wt —ut — 4P+ 3u —3u+1
—3ub 4+ 5u® — du* — 11u® + 18u2 — 1du+5
—2u8 + 3u® — 3u* — 7wl + 10u® — 10u+ 4
( 5ub —|—8u — Tu* — 18u? 4 28u? —25u—|—9>

a7 = —ub 4+ 2ud —2ut — 3P+ T —Tu+3
—4q8 —|—6u —5ut — 15u® +21u? — 18u + 6
ae = —ub 4+ 2u5 —2ut — 3ud + T —Tu+3
uﬁ—u +5u +u?—3u+2
az = —u® 4 4u3 — 3u?
—4u8 +7u — 5u* — 15u® 4+ 25u® — 16u+5
ap = —2u8 4+ 4u® — du* — Tud + 15u® — 1du+5
—7ub 4+ 9u® — 6u* — 27u® + 30u2 — 21u + 8
as = —ub +ud — 4ud + 3u?
—2u8 +2ud —u* — 8ud +6u? —3u+1
a9 = \ —2¢8 +3u® — 2u* — 8ud + 11u2 — Tu+ 2

(ii) Obstruction class =1

(iii) Cusp Shapes = 8uS — 6u® + 3u* + 33u? — 21u? + 14u + 1

14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u” — 6ub + 110’ — 9u? + 17u® — 210% + Tu — 1
C2 u” +2u —uS —ut + 30 —u? —3u—1

c3, C7 ul — w8 4 3u® — 2ut + 6ud — 5u? + 6u—1

C4,C11 w4+ ub 4+ 3w+ 2ut +6ud + 50+ 6u+1
& u” —2u8 —ud +ut 4+ 3uP 4+ u? - 3ut1

Cg, C8 w —3ub +4u® —3ut+u—1

Cg, C12 uw +3uS 4 + 3t +u+1
C10 w =20+ 20+ 3ut — T+ T —du+1

15



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y" — 14y5 + 47y + 55y* + 53y — 221y + Ty — 1
C2,Cs y7—6y6+11y5—9y4+17y3—21y2—|—7y—1
€3, 4, 07 y7 + 50 + 17y° + 34y + 50y° + 43y + 26y — 1
C11
C6,C8, C9 y7—y6—2y5—7y4+2y3—6y2+y—1
C12
€10 y 4200 — 1Tyt =5yt ey 2y — 1

16



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

0.275997 + 0.7353891
a= 1.76625 — 0.418751
1.44608 + 0.271771

—8.98016 + 6.301051

—0.02240 — 4.971711

w=0.275997 — 0.7353891
1.76625 + 0.418751
1.44608 — 0.271771

—8.98016 — 6.301051

—0.02240 + 4.971711

0.596254 + 0.1781181
a = —1.53109 — 1.185041
b= —0.457796 — 0.2703771

0.78802 + 2.210631

7.70396 + 4.430251

uw= 0.596254 — 0.1781181
a = —1.53109 + 1.185041
b= —0.457796 + 0.2703771

0.78802 — 2.210631

7.70396 — 4.430251

u = —1.55196
a= 0.122596
b= —0.485549

7.12086

—11.4550

w=0.90373 + 1.371207
a = —0.796458 — 0.1614161
b= —1.74551 + 0.564291

—3.59296 + 6.799231

8.04613 — 7.573611

uw= 0.90373 —1.371207
a = —0.796458 + 0.1614161
b= —1.74551 — 0.564291

—3.59296 — 6.799231

8.04613 + 7.573611
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IV. I} =(u?+b—-1, v  +a+u, u* —u?+1)

(i) Arc colorings

—2ud +2u +u— 2)

a7 = 1
—2u® 4+ 2u? +u—3

ag = 1
—2u? + 3u? — 1

az = —u?+1
—3u® + 3u? -2

ap = ud +1
—u? +3u—3

as = —ud+1
—ud 4+ 2u +u—2

ag = 1

(ii) Obstruction class =1

(iii) Cusp Shapes = —4u? + 8

18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ (u? —u+1)2
C2,C5,C10 ut —u? +1

€3,C11 (u? 4+ 1)*
¢4 ut + 203 4+ 5u? 4+ du+ 1
6 (u+1)*
cr ut —2ud +5u? —du+1
s ut —4ud + 50 — 2u+1
€9 (u—1)*
C12 ut + 40 + 5u? + 2u+ 1

19



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
“ (v +y+1)°
C2,Cs5,C10 (y2 _y+ 1)2
4
€3, €11 (y+1)
C4,C7 y'+6y° +11y* — 6y + 1
€6, Co (y—1)*
cs, €12 y' —6y® + 11y% + 6y + 1

20



(vi) Complex Volumes and Cusp Shapes

Solutions to If v—1(vol + /—1C5) Cusp shape

0.866025 + 0.5000001
= —0.366025 + 0.3660251 2.029881 6.00000 — 3.464101
= 0.500000 — 0.8660251

= 0.866025 — 0.5000001
= —0.366025 — 0.3660251 — 2.029881 6.00000 + 3.464101

= —0.866025 + 0.5000001

= 1.36603 — 1.366031 —2.029881 | 6.00000 + 3.464101
= 0.500000 + 0.8660251

= —0.866025 — 0.5000001

= 1.36603 + 1.366031 2.029881 6.00000 — 3.464101

U
a
b
U
a
b= 0.500000 + 0.8660251
U
a
b
U
a
b= 0.500000 — 0.8660251

21



u 2 3 2 4 3 2
V. — , — — -1, — —

(i) Arc colorings
0
as
ai = 0)

u3—3u +2u+1
—u? 4+ 2u

)

—u+2
2ud —5u? +3u—1
ud +4u? —bu+2
—u—+1

(
-
0=
o
ws= (0 )
( u? +4u 5u+2)
()
(+
(¢
(-

ar =

ud + 4u? —5u+1
ag =

— 4u? + 4du

az = \y3 -2 +u—1

0
alf u
as = ud +2u u+1>

—ud 4+ 4u® —bu+2
ag = 1

(ii) Obstruction class =1

(iii) Cusp Shapes = —4u? + 8u + 4

22



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u? —u+1)2
Ca,Cs ut—u? 41
03,04,67 (u2 +1)2
C11
4
Cg, C8 (u + 1)
Cg,C12 (u — 1)4
C10 ut — 4w +5u —2u+1

23



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
“ (v +y+1)°
€2, C5 (y* —y+1)?
03,04,67 (y+1)4
C11
Ce6, C8, C9 (y— 1)4
C12
€10 y* — 6y + 11y + 6y + 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¢

V=1 (vol + y/=1CS)

Cusp shape

0.133975 + 0.5000001
1.86603 + 0.500001
0.500000 + 0.8660251

— 2.029881

6.00000 + 3.464101

0.133975 — 0.5000001
1.86603 — 0.500001
0.500000 — 0.8660251

2.029881

6.00000 — 3.464101

1.86603 + 0.500001
0.133975 + 0.5000001
0.500000 — 0.8660251

2.029881

6.00000 — 3.464101

> Q2 €|l & €|l & €|l & €
I

1.86603 — 0.500001
0.133975 — 0.5000001
0.500000 + 0.8660251

— 2.029881

6.00000 + 3.464101
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VL I} =(—u*4+b+1, v’ +a, u* —u?+1)

(i) Arc colorings
(1)
= (0)

")
;)

2u3—u —u)

(
= ("
o=
(
o= (20 12 iy
(-
(-
(s
(-
(

—ud 4 u
ar = wHu—1
ag = u3+u—1>

—u
a9 = us

0
a1: u

0
as = \y2 -1

—us +u
ag = \2u3 —u? —2u+2

(ii) Obstruction class =1

(iii) Cusp Shapes = —4u? + 8
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ (u? —u+1)2
C2,Cs5, C10 ut—u? 41

s ut —2u3 4+ 5u? —du+1

€4, C7 (u? 4 1)*
6 ut —4ud 4+ 5u? —2u+1
8 (u+1)*
€9 ut + 4ud 4+ 5u + 2u+ 1
c11 ut +2ud +5u? +4u + 1
c12 (u—1)*
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
“ (v +y+1)°
C2,Cs5,C10 (y2 _y+ 1)2
€3, C11 y' +6y° +11y° —6y + 1
4
Cq, C7 (y+1)
C6, Co yt —6y° +11y% + 6y + 1
€8, C12 (y—1)*
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(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape
= 0.866025 + 0.5000001
= —0.500000 — 0.8660251 2.029881 6.00000 — 3.464101

= —1.00000 + 1.000001

0.866025 — 0.5000001

—0.500000 + 0.8660251 —2.029881 | 6.00000 + 3.464101
—1.00000 — 1.000001

—0.866025 + 0.500000

—0.500000 + 0.8660251 —2.029881 | 6.00000 + 3.464101
—1.00000 + 1.000001

—0.866025 — 0.5000001

—0.500000 — 0.8660251 2.029881 6.00000 — 3.464101
—1.00000 — 1.000001
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VII. u-Polynomials

Crossings u-Polynomials at each crossing
e (u? —u+1)%(u” — 6u’ + 11u° — 9u* + 17u® — 21u? + Tu — 1)
(w220 4o — 46u + 1)) (u® + 1367 - - 4 12928u 4 256)
o (u* —u? + 13" + 2u8 —u® —ut +3u® —u® - 3u—1)
(W —4ut =20+ 1)) (W 11T - — 32u + 16)
(u2+1) ( —2u® 4 5u? — 4u + 1)
€3, C7
(u” - ~+6u—1)(u18+u17+~-~—6u—|—1)
(w3 4 3u31 + -+ + 310u + 25)
(u? + D)*(u* + 2u® + 5u® 4 4u + 1)
€4, C11
US4 bu+ D (T 4 — 6ut 1)
(u®? 4 3ut + - 4 310u + 25)
s (u* —u? + 1) (u” — 2u® —u® +u? +3u® +u? — 3u+1)
(= 4wt 4 =20+ D)D) (W + 1167+ — 320+ 16)
cs, Cs (u+ 1)3(u* — 4u® + 5u® — 2u + 1) (u” — 3ub + 4u® — 3u* +u — 1)
(Bt = 3u — 1) (u*? — P -~ 160u + 31)
co, €12 (u —1)3(u* + 4u® + 5u® + 2u + 1) (u” + 3uS + 4u® + 3u* +u + 1)
Bt = 3u - 1)(u*? — P -~ 160u + 31)
(u* —u? + 1)%(u* — 4u® + 5u* — 2u + 1)
C10

(" = 2u® 4+ 208 + 3ut — Tud T — du+ 1)
(= B5ut® 4 = 2u+ 1)) (uf® Ut 4 - — 320 — 8)
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VIII. Riley Polynomials

Crossings Riley Polynomials at each crossing
o (v* +y+1)5(y" — 14y°® + 47y° + 55y* + 53y® — 221y% + Ty — 1)
(y'® — 50y*0 4 - — 1390y + 1)2
- (y*® — 25y17 4 - - — 151904256y + 65536)
CoCs (W —y+1)°y" —6y° + 11y° — 9y* + 17y° — 21y + Ty — 1)
((y" = 229" + -+ 46y + 1)*)(y"® — 13y'7 + - - — 12928y + 256)
C3,C4,C7 (y+1)8(y4+6y3+11y2 76y+1)
1 (y" 4 5y° + 17y° + 34y* + 50y° + 43y 4 26y — 1)
Sy 1Ty T 4 = 14y + 1) (132 + 33930 4 -+ - — 34950y + 625)
C6, €8, Co (y—1)%(y* — 6y + 11y + 6y + 1)
c12 =y ey = D B Ty )
(Y2 4y + - 4 7570y + 961)
. (> —y+ D' (y* = 6y° + 11y° + 6y + 1)
10

T2 2y = D (Y g 8y 1)
(y'® =5yt . — 416y + 64)
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